SECTION 3| Test 12 Schofield & Sims Narme of pup Diagnestic Chart for Section 3
e ' : ' Indicate where pupil has difficulty
: 1 2 3 4 5 6 7 8 9 10 1 12
4 (0.2 = Javad has fourteen cards. S _
2 5ax56 _ 7 48 Onsixof them is a single-digit number. Test 1 ar
- : ; _ Part B
3. Write 3° = 33 as a power of three. - o | = || 4 _
‘4 Insértthe symbol <, > or = to make .
a correct statement. 18 1.8 = 13 - . o Test 2 Part A
5 3L x10= =22 On each of the other eight is a mathematical symbol. o
I - Part B
6 48+06= o |l o
6 ) £ | = L L= = 1 ; ' Part C
7 (0.2)7 4037 +{0.2+03)= ANt . S
0.003 d . Test 3 Part A
8 0.0387 becog’ues deci 9? v;/hen Fill in the blanks to show how Javad arranged his cards to
rounded to three decimal piaces. answer the following guestions. Not every card needs to be Part B
True or false? ’ 94 - Ot Every : :
T e used but no card can be used twice in any one guestion. . Part C
9 6< 55 <8 Trueorfalse? e .;
10 Ifx=3,y=5 z=8, find the - ':§ Testd Part A
value of 7. 6 1 FIX| =6 Part B
_ X 2 — g
11 50=zax5 s0a= . Part C
12 Write the next two tarms cf - — ]
the sequence. . 2 |4 = - 2 f— 6 Test 3 Part A
55305 : ¥ PartB’
] - Part C
3 s e L :
i O 6 = _ Test 6 Part A
1 Which is the better buy PartB
200 407 b o || == :
a 49 for50p orb for £2.40 * 406 5= 1 2 Part C
2 A £395 computer is reduced by 8%. ” i L Sa
What is the amount saved? £31.60 i -' Test7 Part A
3 5 miles is approximately _&km Part B |
s 3|10 6|< 2|5 - | ‘
4 1353kg+6= L b ; Part C
5  Noah works five shifts each of ' : Test 8 Part A
7h 50min. What is Noah's total 6 N N, :
working time? h  i0min 3|6+ 1|2)° 0 Part B
& Find the area of a circle whose radius ' Part C
; 1E2om?
is 2cm, to the nearest whole number. iZcm ; 3 . 2 — }E ;a Test 9 Part A
A=nr =314 . il I |
nr ‘ (n: ; Part B S :
7 Find my speed if traveling 0.25 miles 3 I - Part C : :
women 8 |5 =6)+| 1) .2 et | rana ﬂ
8 A sguare with 15mm sides was . : N |
enlarged by the scale factor x. The . Part B |
area of the new square is 144cm?. = | e || # 5 || ' j
Whatis thevalueofx2 & 9 2 Xl|Zl=| " +|u]= 6 Part C
‘9 What is Test 11 Part A |
] |
a the number of axes 10 2 6 =2 =5 4 1 Part B i
of symmet_ry and a‘i = || s Part € i
 the order of rotational symmetry . |
about the centre of the . -_.Tgst 12 Part A : y
shape shown? b1 _ no 1 EI=2 : Part B . :
A0 1f 720 equal lengths of electrical cable Part C
are cut from a reef of total length
500yd, what is the length of each cut 12 3 ERiFs g R 1 5 S
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piece of cable to the nearest foot? L 2ft




